normalized X?

chi2

Entries 17843

Mean 1.03

Std Dev 1.024

S|
chi2

+ _[Entries

18074

0 2 4 6 8 10 12 14 16 18 20
2

X

[ normalized x? probability |

oo ]

—————————{Ewies 17843

Mean 05572

. i

0.05 Yook T st pev 03207
e —

Entries 18074

0.04 - | Mean 05575

Std Dev. 0.3211

o hiz_prob
0.03F -t -errme el Entries 8047
01 |Mean 05573

0.02

Std Dev 0.3212

[ A .

1

T

op,1p. > (%)

A F
5
1
=1
\"
1.
R . ' ;
1.2| m=m== DQM_V0001_R000000001__Global__cmssw__RECO
s DQM_V0001_R000000001__Global__
1 = DQM_V0001_R000000001__Global__|

mkFitOriginal__RECO
mkFitNewALL__RECO

A 2.5

5

{=4

< 2

v
1.5

o+

T

@
0.95
10"

S

~

- 1

o

;_n—

o O T b VR e

v
| B
2F-------- E. ...................
,3 -------------------------------
_4 ......... L T Y N N F Ay A

Ratio

0 1 2 3
TP n (PCA to beamline)

< X2/ ndf >

Ratio

1072

-1
AR(track, je:‘LtS)



	Contents
	Page 1


